
6

4

?

2

= 3KgMS201 x

MS176 x

MS168 x

PS035 x

PS047 x

2

2

?

?

? ?

??

?
Clip Nut   

(FN020) x       

M6 Shakeproof Washer
(FW008) x     

M6 Washer 
(FW001) x      

M6 x 16 Hex Head Screw
(FS041) x     

M8 Nyloc Nut 
(FN006) x       

Life Size (A4 Paper)

M8 x 65 Hex Head Bolt (FB003) x

M8 Washer
(FW002) x      

Rubber Pad 
(PS024) x      ?

M6 x 20 Hex Head Screw
(FS001) x     ?

(1:1)

FB003 (M8 x 65) x

FW002 (M8) x FN006 (M8) x

FW001 (M6) x FW008 (M6) x

FS001 (M6 x 20) x FS041 (M6 x 16) x

FN020 (M6) x

PS024 (M6) x 8

10

10 10

24 12

82

12

13mm x 2

10mm x 1

Manufactured by Rhino Products Ltd in the United Kingdom

3 Bar "MB"  Kit (with Tie Bars), Delta BarsMB3D_f ( 1 of 3 )

1 X 1 , \' 

@ 

@ 0 

0 
<O 

@ 



MS176 MS168
 

F

R

M6 x 20

M6 x 16

Manufactured by Rhino Products Ltd in the United Kingdom

3 Bar "MB"  Kit (with Tie Bars), Delta BarsMB3D_f ( 2 of 3 )

1. 2. 3.

4. 5. 6.

XXX 
R 

• 



 

Manufactured by Rhino Products Ltd in the United Kingdom

3 Bar "MB"  Kit (with Tie Bars), Delta BarsMB3D_f ( 3 of 3 )

7. 8. 9.

10. 11. 12.

;___ _____ _ 
•• ,o 

12Nm 


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View4
	Drawing View5

	Sheet3
	Drawing View15

	Sheet4

